= | 203
= 1(1/3)
mHEHN 3.9 ha N

|H - #

mEMEAERE - MR E

F—EPEREEE

|IETE —  EHhig (150/60)
e — #3718
s - HET A i
s - 3t s
m#EM 87 ha
i Bl ! I8 - #
K & K %! m#tiERe -  +eieRs
i E—TBIEBER
A & #h 5! H|ISTE —  E i (80/50)
B E K
(& & R) ! |IETE - E17E
B Attt B UK
[ A e de |IETE - |IETE
% 1t th i MmiEE - &g




miE 3.9 ha

= | 203
5 1(2/3)
N

B | E i
K B K 5! wHiERERs e R
! F—RBTEEERE

A & 5! MISTE B Mtthizi (150/60)
B OE b X
(B &R IR 5378

At R

B K g IR HE [ g
% b s |IETE RActhig

EEH ha
2 -

mHERERE - MR E

F—EEREE

MmIBETE —  EFHhiE (80/50)
EIRTE -
|IETE —
|IRTE -

miEH 8.7 ha

- #

LR

Xl

— e X

FE—IEEREE
—  E i (80/50)

| 38

- $F1iE
- IR TE
- kb iz

miEXY 35 ha

- #

— b X

FE_RETEEER
— B (150/60)

- 5537&

- HERH K15

- fxicthig

EEE ) 52  ha

- #

N

R

g
™

- e R E

=3
et

F—EBERERE
—  Efhig (80/50)

w |
=

o}

i

N

- $F1iE
- IETE
— fxicthig




miEH 0.5 ha

=

#

mHEMEIRE R E

e X

FREEERE
B Fhig (80/50)

F1iE

BT

#ricthig

EH® 87  ha 3 ?2?)
=] 3 3 3
L AR ML R
E—RIERBER
|IETE B Fhi5 (80/50) N
|IETE %178
|IETE |ITE
|ITE 124t this;
EiEHY 35  ha
iE ! [ i
X i D AR ML X 5
! E_EhEREERE
A & ! BIETE B FAhs (150/60)
=R i
(B & ! WIS TE 3%
B A St R UK
# [ K : mIETE #E [ A Hh 155
& b th s miEE 1L st
miEXN 5.2 ha
3 I8 #
X 5 L ARRSE LR
E—RIERERE
A & W|ISTE B A #his; (80/50)
= E
(B & Wi %178
B A 15 R
# I K W|IETE |IETE
% 1t E|ISTE 124t Hhis;




	2017-kirizu-203-1
	2017-kirizu-203-2
	2017-kirizu-203-3

